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Constraint: 2z + y = 2400
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function[L]=index farmer (x)
L=-x(1)*x(2);

End
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clc;clear all

Aeq=[2 11;



beg=2400;
x0=[0;01;
[x,Jmin]=fmincon (findex farmer,x0, [], [],Aeq,beqg, [],[])
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Warning: Trust-region-reflective algorithm does not solve this type of problem,
using active-set algorithm. You could also try the interior-point or sqp algorithms:

set the
. . . . . Q
Algorithm option to 'interior-point' or 'sqp' and rerun. For mo , see
.Choosing the Algorithm in ocu ation
L
nat472 <

tolerance

<stopping criteria details>
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